Repair & Maintenance Kits

AXLES & STEERING
QUICK REFERENCE GUIDE

The .

,//A Genuine

AGCO Choice
PARTS

The whole is less than
the sum of its Parts!

At AGCO we are always looking for more efficient and cost effective
ways to help our customers take care of their machine.

www.agcopartsandservice.com

Front Axle

E718301021021 MODEL 745/143 Favorit 711 Vario Favorit 712 Vario Favorit 714 Vario Favorit 716 Vario FENDT 712 Vario FENDT 714 Vario
That is why we are introducing a new range of Axle FENDT 716 Vario FENDT 718 Vario FENDT 815 Vario FENDT 817 Vario FENDT 818 Vario FENDT 820 Vario
& Steering Repair & Maintenance Kits for the most AW e "N TN
popular ranges of tractors such as: E733300020010 MODEL 745/146 FENDT 714 Vario FENDT 716 Vario FENDT 718 Vario FENDT 720 vario

« FENDT 712-714-716-718, Favorit 711-712-714-715-716,
FENDT 817-818-820
ACP0316660

King Pin Kit Hub Reduction Kit

(Top LF+ Bottom & Steering Sensor) ACP0316680

Qty 2 per axle

Our range of kits has been created to reduce the risk of expensive Qty 2 per axle

breakdowns by providing a cost effective regular axle maintenance
solution. Choosing these comprehensive kits to replace all wearable
parts means less downtime for the tractor and less workshop time
saving you money!

These genuine kits approved by Fendt Engineering are
manufactured to the strict tolerances of your original axle for
guaranteed fit, performance and reliability.

Benefits of choosing an axle and steering kit are:

« Replacing several Parts in one visit reduces overall workshop time
« Reduced unproductive downtime

+ Reduced labour costs

« Extended lifespan of the axle & steering systems

+ Reliable performance for peace of mind

+ Only genuine AGCO Parts used for guaranteed fit and function

+ All backed by our 12 months warranty (T&C apply)

A

asecs © AGCO 2017. AGCO Parts provides worldwide genuine support to all AGCO machinery brands. A2853.17

X487541001000
F718301020650
F718301020290
F718301020300
F718301020710
X623077000000
X623077100000
F718301020690
X412825406000

King Pin Kit
(Top RH + Bottom)

X487540900000
F718301020640
F718301020290
F718301020300

Bolt M14x40
King Pin Top Left
Shim 0.2mm
Shim 0.5mm
Seal

Bearing

Bearing

King Pin Bottom
Pin M12x12

ACP0316670

Bolt M14x35

King Pin Assembly

Shim 0.2mm
Shim 0.5mm

e e ) B e R N 0 ¢

Qty 2 per axle

H524300020100
F718301020680
X549040200000
F718301020350
X619069900005
X619069800005
X493612905000
X540009678000
F718301020410

Steering Double Joint Kit

F718301020560
F835300020550

Oil Seal Hub Reduction

Bearing Hub Reduction

O-Ring Hub Reduction

Snap Ring Planet Gear

Bearing Planet Gear inside
Bearing Planet Gear outside
Bolt M10x20 Planet Gear Carrier
Seal Oil Plug

QOil Plug

ACP0316580

U-Joint
Center Section

Qty 2 per axle




